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On page 28 & 2'1. seb up unit 2 in gour notebook.
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Algebra I - Unit 2: Topic 1 — Patterns \0 IZ 5
Student Notes - Patterns No Textbook Correlation*

Develop a table and a pattern rule fer the representation:

1. P'lcicure: 2 3 °Table: & How to write a Function Rule:
o \|(Homdk oo
-
=g V| 8%
Db

8 \o _LFTi S
4

\
-
~
L - ‘I (e
Function rule: = L 3

Determine the total number of blocks when:

A.bThe term ber is 8: B. The term number is 15:

—N

(a2 bh{)ﬁ! 3 L bodes
C. Whatwi

hen there.are 52 blocks?
S =L >aAn | Ze=gren

SalVe Tov N\ - ko =22\N
2. ScatterpIC\t'j\ Table: ﬂ: Q\
[ . ,IE 3 X

1%
T
L

Determine the y-value when:

A. The x-value is 12;
Function rule:

B. The x-value is 20:

X= R
N e
Write a'¥fu 'I"Ie for the following sequence. If nrepresents a nu __'s«zosi inndn@sequence,
3. Sequence: write the first S?tamcrlﬁem ea? 2

18, 23, 28, 33 expression. W= =5

3X3’\'J'I'L F,)0, \33“03\434

M= =28
EAETRRN X

) @'vess'pn (wl %)
2..) Ewnal (eePH)

—lp) =3+ 3%
-value |5_—6_1% = "3&

C. What will thelx
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Algebra I - Lhit 2; Topic 1

Practice — Patterns (2 pages) No Textbook Correlation
Mame Date Fer

If rrepresents a number's position in a sequence, write the first 5 terms described by each expression.

1. 2047 2 mln-61+2

Find the term nurmber when it takes 103 blocks to
build.

Match each sequence with its rule on the right.

3. 4, -3,-2 -1,0 A x+5
4. /9,14, 21, 30 B x-5
5 § 75910 C ox 45

Answer the following questions.

6. A special sequence is called the Fibonacci sequence. 1t is named after Leonardo Fibonacci from Italy who presented
it in 1201, This sequence is wery intriguing because the numbers in the sequence are often found in nature, The first
six terms of the sequences are listed below, Give the next =i terms of the sequence.

1,1,2,3,5,8..

7. Pam needs to make a tower of soup cans a5 3 display n 3 supermarket. Each layer of the tower will be in the shape
of a rectangle as shown, The length and width of each layer will be ane less than the layer below it

A. How many cans will be needed for the fourth layer? :::
L i 3]
B. What is the total number of cans needed for an 8-layer tower? bl
25408
S ase
88y

5. Sara planted rows of tulips in her garden, as shown in the table, Which expression best shows the number of tulips
DEr rot,

Row Number Number of Tulips
1 3
2 a]
3 9 D. ar
4 12
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9. A geormetry class was exploring the surn of the interior angles, 5 of polygons as compared to the number of sides,
#, that the polygon has, They recorded their data in the table below, Complete the table, and state the function rule.

17 5
3 180
4 360
=] 540
=] 720
7

a

9

10

Function Rule:

10. The top-count views of a block pattern are shown below. How many blocks does it take to build figure 107

& 4
B S
c 19
D 23

11, The figures to the ri

\Which shows the S

2,

B

%

7

t have a repeating pattern.

figure in this pattern?

Fig. 1

Fig. 2

Fig. 3

A A A L\ o £

o TS T A A

12. The figure below shows a partial view of Pascal's riangle. Which row of numbers best represents the seventh row in
Fascal's triangle?

1

1

=]

6

10

15

21

28

10

20

35

a6

21

15 6 1

35 21 7 1

70 56 28 9 1

How 1:

I3

Row

L3

How
Row 4:
Row &:

1

Pascal's Triangle
1
1 1
1 2 1
3 3 1
4 8 4 1
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